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The Pythagorean Theorem
and Its Converse
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Theorem 7.4: (Pythagorean Thm) \
In a right triangle, the sum of the
squares of the measures of the
legs equals the square of the
measure of the hypotenuse.
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Ex: Find AC.
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Ex: Find XY.
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Theorem 7.5: (Converse of the PT)

If the sum of the squares of the
measures of two sides of a
triangle equals the square of the
measure of the longest side, then
the triangle is a right triangle.
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Pythagorean triple: three whple
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Determine whether each set of
measures are the sides of a right
triangle. Then state whether they form

a Pythagorean triple. 43 . 443 TR

Ex: 9,12, 15 Ex:(4v3)4, 8

Qa2 £ (2 (1) + 4T =%
{qq L+ iy = 225 4% + Ll = LY
{8 2?.§ ?25 v/ Y =LY /



Ex: Is APQR a right triangle?
P(3,2) Q(-3,6) R(5,5)
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Homework:
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